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Binary Operations Ex 3.3 Q1
The binary operator + is defined on 7+
and is given by,

a+th=ag+bforalabelt

Lets <% and e= /T be the identity element with respect to *,
bvw identity property, we have,
S*e=c*3=3

U

F+e=a
g=10

I

Thus the required identity elementis 0.

Binary Operations Ex 3.3 Q2
LetR-{-1} be the set and * be a binary operator, given by
a*b=a+b+abforall abe R-{-1}

Mo,
Letae R -{-1} ande ¢ R-{-1} be the identity element with respect to *,

by identity property, we have,
a*¥e=g%3=23

= A+e+38=3
= efl+a)=0
= g=0 [-.-1+aae[]asaae—1:|

The required identity elementis Q.

Binary Operations Ex 3.3 Q3



We are given the binary operator * defined on 2 as
a*rh=g+b-CSforallabeq

Lete be the identity element with respect to +

Then, a*e=g*3=a [By identity property ]
= a+e-5=a4
= g=5

Hence, the required identity element with respect to * 55,

Binary Operations Ex 3.3 Q4

The binary operator * is defined on 2, and is given by
a+h=a+b+2 faralla,b = =Z.

Let s e £ and e € £ be the identity element with respect to % then

F*e=g+*3=23 [By identity property ]
== I+e+2 =23
= g=-2e7

Hence, the identity element with respect to + is -2,





